

Some Modular Equations and Lambert Series for a Continued Fraction of Ramanujan

Pramod Kumar Rawat

Department of Mathematics and Astronomy,
University of Lucknow, Lucknow, 226007, India.

E-mail:pramodkrawat@yahoo.com

ABSTRACT. We give modular equations and Lambert Series for a continued fraction of Ramanujan.

1. Introduction

In Ramanujan's second notebook [16] there are several hundred modular equations. It is surprising that some of the deepest results on modular equations appear only in first notebook. In chapter 36, B.C. Berndt [9] has established all the results on modular equations given in first notebook, but not in the second. In a fragment published with Ramanujan's notebook [17] there is a list of twenty identities involving Lambert series. Then in another fragment on pages 356 & 357 there is an almost identical list of twenty one Lambert series identities. Most of these can be found in Ramanujan's second notebook.

The celebrated Rogers-Ramanujan continued fraction

$$R(q) = 1 + \frac{q}{1 + \frac{q^2}{1 + \frac{q^3}{1 + \frac{q^4}{\dots}}} = \frac{(q^2; q^5)_\infty (q^3; q^5)_\infty}{(q; q^5)_\infty (q^4; q^5)_\infty} \quad (1)$$

was extensively studied by Andrews [4, 5], Hirschhorn [12, 13]. Recently H. M. Srivastava et al. [21] using identities of Bowman and Maclaughlin [10] derived an associated continued fraction and using identities of Andrews and Berndt [6] derived q -identities. In [22] H. M. Srivastava et al. derived some new results which show the inter-relationship between q -product identities and combinatorial partition identities. In [23] H. M. Srivastava et al.

* Corresponding Author.

Received October 30, 2018; accepted January 30, 2019.

2010 Mathematics Subject Classification: 11A55, 11B65.

Key words and phrases: Continued Fraction, Lambert Series, Modular Equation.

This is an open access article under the CC BY license <http://creativecommons.org/licenses/by/3.0/>.

gave some q -identities using theta functions of Jacobi and Ramanujan and interestingly a relation between three theta type function arising from Jacobi's triple-product identity. In [1] Chandrashekar Adiga et al. established two q -series representations of Rogers-Ramanujan continued fraction. They also gave integral representations. In [2] Chandrashekar Adiga et al. gave some new modular relation for the Rogers-Ramanujan type function of order eleven.

We have earlier considered a continued fraction of Ramanujan [15] defined by

$$P(q) = \frac{1}{1+} \frac{1-q^2}{1-q^3} + \frac{(q^{5/2}-q^{7/2})(q^{1/2}-q^{11/2})}{(1-q^3)(q^6+1)} + \frac{(q^{5/2}-q^{19/2})(q^{1/2}-q^{23/2})}{(1-q^3)(q^{12}+1)} + \dots$$

$$= \frac{(q^4, q^8; q^{12})_\infty}{(q^2, q^{10}; q^{12})_\infty} \tag{2}$$

Let

$$T(q) = \frac{1}{(q^4; q^{12})_\infty (q^8; q^{12})_\infty (q^{12}; q^{12})_\infty} \tag{3}$$

$$S(q) = \frac{1}{(q^2; q^{12})_\infty (q^{10}; q^{12})_\infty (q^{12}; q^{12})_\infty} \tag{4}$$

So $P(q) = \frac{S(q)}{T(q)}$

The paper is organized as follows;

In section 3, we give two relations between $S(q)$ and $T(q)$ and with the help of these relations in section 4 we give three modular equations. In the section 5 we give some expressions for Lambert Series. In the last section 6 we prove an important identity.

We shall be using the following relations due to Slater[19, eq. (50) and eq.(51)] in the sequel:

$$\prod_{n=1}^{\infty} (1-q^n) \sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+n}}{(q; q)_{2n+1}} = (q^4; q^{12})_\infty (q^8; q^{12})_\infty (q^{12}; q^{12})_\infty \tag{5}$$

$$\prod_{n=1}^{\infty} (1-q^n) \sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2+2n}}{(q; q)_{2n+1}} = (q^2; q^{12})_\infty (q^{10}; q^{12})_\infty (q^{12}; q^{12})_\infty \tag{6}$$

2. Notations and Definitions

We use the following standard notation throughout this paper.

For $|q| < 1$ and $x \neq 0$

$$j(x, q) = (x; q)_\infty (q/x; q)_\infty (q; q)_\infty \tag{7}$$

If m is a positive integer and a is an integer, then for $m > 1$

$$J_{a,m} = j(q^a, q^m), \tag{8}$$

$$J_{a,m} = j(-q^a, q^m), \tag{9}$$

$$J_m = j(q^m, q^{3m}) = (q^m; q^m)_\infty \tag{10}$$

Also from definitions

$$\begin{aligned}
 j(q/x, q) &= j(x, q), \\
 j(x^{-1}, q) &= -x^{-1}j(x, q), \\
 j(x, q)j(-x, q) &= J_{1,2}j(x^2, q^2), \\
 (a)_0 &= (a; q)_0 = 1, \\
 (a)_n &= (a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k), \quad n \geq 1 \\
 (a)_\infty &= (a; q)_\infty = \prod_{k=0}^{\infty} (1 - aq^k), \quad |q| < 1.
 \end{aligned}$$

Using (7) we can write $S(q)$ and $T(q)$ as

$$S(q) = \frac{1}{j(q^2, q^{12})} \quad \text{and} \quad T(q) = \frac{1}{j(q^4, q^{12})} \quad (11)$$

3. Identities Related to $S(q)$ and $T(q)$

We prove the following two identities:

$$(i) \quad S(q^2)T^2(q) - S^2(q)T(q^2) = 2q^2j(q^2, q^{24})j(q^{18}, q^{24})j^{-1}(q^{12}, q^{24})T(q)S(q)T(q^2)S(q^2) \quad (12)$$

$$(ii) \quad S(q^2)T^2(q) + S^2(q)T(q^2) = 2j(q^6, q^{24})j(q^{14}, q^{24})j^{-1}(q^{12}, q^{24})T(q)S(q)T(q^2)S(q^2) \quad (13)$$

Proof of (i).

By a Theorem of Hickerson [14, Th. 1.2]. For $0 < |q| < 1$, $x \neq 0$, $y \neq 0$

$$j(-x, q)j(y, q) - j(x, q)j(-y, q) = 2xj(y/x, q^2)j(xyq, q^2) \quad (14)$$

Replacing q by q^{12} , x by q^2 and y by q^4 in (14), we have

$$j(-q^2, q^{12})j(q^4, q^{12}) - j(q^2, q^{12})j(-q^4, q^{12}) = 2q^2j(q^2, q^{24})j(q^{18}, q^{24}) \quad (15)$$

Multiplying both side by $\frac{1}{j(q^2, q^{12})j(q^4, q^{12})j(q^4, q^{24})j(q^8, q^{24})}$, we get

$$\begin{aligned}
 &\frac{j(-q^2, q^{12})}{j(q^2, q^{12})j(q^4, q^{24})j(q^8, q^{24})} - \frac{j(-q^4, q^{12})}{j(q^4, q^{12})j(q^4, q^{24})j(q^8, q^{24})} \\
 &= \frac{2q^2j(q^2, q^{24})j(q^{18}, q^{24})}{j(q^2, q^{12})j(q^4, q^{12})j(q^4, q^{24})j(q^8, q^{24})}
 \end{aligned} \quad (16)$$

Using equation (11), we get

$$S^2(q)T(q^2) - T^2(q)S(q^2) = 2q^2j(q^2, q^{24})j(q^{18}, q^{24})j^{-1}(q^{12}, q^{24})T(q)S(q)T(q^2)S(q^2) \quad (17)$$

which proves (i)

Proof of (ii).

Replacing q by q^{12} , x by $1/q^2$ and y by q^4 in (14), we have

$$j(-q^2, q^{12})j(q^4, q^{12}) + j(q^2, q^{12})j(-q^4, q^{12}) = 2j(q^6, q^{24})j(q^{14}, q^{24}) \quad (18)$$

Multiplying both side by $\frac{1}{j(q^2, q^{12})j(q^4, q^{12})j(q^4, q^{24})j(q^8, q^{24})}$, we get

$$\begin{aligned} \frac{j(-q^2, q^{12})}{j(q^2, q^{12})j(q^4, q^{12})j(q^4, q^{24})j(q^8, q^{24})} + \frac{j(-q^4, q^{12})}{j(q^2, q^{12})j(q^4, q^{12})j(q^4, q^{24})j(q^8, q^{24})} \\ = \frac{j(q^6, q^{24})j(q^{14}, q^{24})}{j(q^2, q^{12})j(q^4, q^{12})j(q^4, q^{24})j(q^8, q^{24})} \end{aligned} \quad (19)$$

Again by equation (11), we get

$$S^2(q)T(q^2) + T^2(q)S(q^2) = j(q^6, q^{24})j(q^{14}, q^{24})j^{-1}(q^{12}, q^{24})S(q)T(q)S(q^2)T(q^2) \quad (20)$$

which proves (ii).

Now dividing the equation (17) by (20), we have

$$\frac{S^2(q)T(q^2) - T^2(q)S(q^2)}{S^2(q)T(q^2) + T^2(q)S(q^2)} = \frac{q^2j(q^2, q^{24})}{j(q^{14}, q^{24})} \quad (21)$$

Writting the equation (21) in the form

$$H(q) \frac{S^2(q)T(q^2) - T^2(q)S(q^2)}{S^2(q)T(q^2) + T^2(q)S(q^2)} = \frac{P(q)}{P^2(q^2)} \quad (22)$$

where

$$H(q) = \frac{j^2(q^4, q^{24})(q^4, q^{20}; q^{24})_{\infty}(q^{12}; q^{12})_{\infty}}{q^2j^2(q^2, q^{24})(q^4; q^4)_{\infty}} \quad (23)$$

Using (12) and (13) we give modular equations.

4. Some Modular Equations

We prove the following modular equations:

$$(i) \quad H(q) \frac{v^2 - u}{v^2 + u} = \frac{v}{u^2} \quad (24)$$

$$(ii) \quad k \left(\frac{1 - k/H(q)}{1 + k/H(q)} \right)^2 = \frac{1}{P^3(q)} \quad (25)$$

$$(iii) \quad \frac{H(q)}{v/u^2} - \frac{v/u^2}{H(q)} = \frac{\phi(q^2)\phi(q^6)}{q^2\chi^2(q^2)(\phi^2(q^2) - \phi(q^6))} \quad (26)$$

where $u = P(q^2)$, $v = P(q)$ and $k = \frac{P(q)}{P^2(q^2)}$

Proof of (i).

Multiplying and dividing by $T^2(q)T(q^2)$ in left-hand side of (22) and using definitions of u and v we get (i).

Proof of (ii).

From equation (22)

$$\begin{aligned} \frac{S^2(q)T(q^2) - T^2(q)S(q^2)}{S^2(q)T(q^2) + T^2(q)S(q^2)} &= \frac{k}{H(q)} \\ k \left(\frac{1 - k/H(q)}{1 + k/H(q)} \right)^2 &= k \left(\frac{1 - \frac{S^2(q)T(q^2) - T^2(q)S(q^2)}{S^2(q)T(q^2) + T^2(q)S(q^2)}}{1 + \frac{S^2(q)T(q^2) - T^2(q)S(q^2)}{S^2(q)T(q^2) + T^2(q)S(q^2)}} \right)^2 \\ &= \frac{P(q)}{P^2(q^2)} \left(\frac{2T^2(q)S(q^2)}{2S^2(q)T(q^2)} \right)^2 \\ &= \frac{P(q)}{P^2(q^2)} \frac{P^2(q^2)}{P^4(q)} = \frac{1}{P^3(q)} \end{aligned}$$

Proof of (iii)

$$\begin{aligned} \frac{H(q)}{v/u^2} - \frac{v/u^2}{H(q)} &= \frac{S^2(q)T(q^2) + T^2(q)S(q^2)}{S^2(q)T(q^2) - T^2(q)S(q^2)} - \frac{S^2(q)T(q^2) - T^2(q)S(q^2)}{S^2(q)T(q^2) + T^2(q)S(q^2)} \\ &= \frac{j(q^{14}, q^{24})}{q^2 j(q^2, q^{24})} - \frac{q^2 j(q^2, q^{24})}{j(q^{14}, q^{24})}, \quad \text{From [18, Lemma 3.1]} \\ &= \frac{\phi^2(q^2) + \phi(q^6)}{\phi^2(q^2) - \phi(q^6)} - \frac{\phi^2(q^2) - \phi(q^6)}{\phi^2(q^2) + \phi(q^6)} \\ &= \frac{\phi(q^2)\phi(q^6)}{q^2 \chi^2(q^2)(\phi^2(q^2) - \phi(q^6))} \end{aligned}$$

5. Lambert Series for Ramanujan's Continued Fraction

We have proved the following Lambert series in [15]

$$(q^{12}, q^{12})_{\infty}^2 S(q) = \sum_{n=-\infty}^{\infty} \frac{q^n}{1 - q^{12n+10}} = \sum_{n=-\infty}^{\infty} \frac{q^{10n}}{1 - q^{12n+1}} \quad (27)$$

$$(q^{12}, q^{12})_{\infty}^2 S(q) = \sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1 - q^{12n+5}} = \sum_{n=-\infty}^{\infty} \frac{q^{5n}}{1 - q^{12n+2}} \quad (28)$$

$$(q^{12}, q^{12})_{\infty}^2 T(q) = \sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1 - q^{12n+8}} = \sum_{n=-\infty}^{\infty} \frac{q^{8n}}{1 - q^{12n+2}} \quad (29)$$

$$\frac{(q^{12}, q^{12})_{\infty}^2 S(q)}{(q^6, q^{12})_{\infty}^2 T(q)} = \sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1 - q^{12n+6}} = \sum_{n=-\infty}^{\infty} \frac{q^{6n}}{1 - q^{12n+2}} \quad (30)$$

$$\frac{(q^{12}, q^{12})_{\infty}^2 T(q)}{(q^6, q^{12})_{\infty}^2 S(q)} = \sum_{n=-\infty}^{\infty} \frac{q^{4n}}{1 - q^{12n+6}} = \sum_{n=-\infty}^{\infty} \frac{q^{6n}}{1 - q^{12n+4}} \quad (31)$$

$$(q^{12}, q^{12})_{\infty}^2 T(q) = \sum_{n=-\infty}^{\infty} \frac{q^{4n}}{1 - q^{12n+4}} \quad (32)$$

$$(q^{12}, q^{12})_{\infty}^2 \frac{S^2(q)}{T(q)} = \sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1 - q^{12n+2}} \quad (33)$$

With the help of these identities we can prove the following relations.

$$\begin{aligned}
 (i) \quad \frac{S(q)}{T(q)} &= \frac{\sum_{n=0}^{\infty} \frac{q^{12n^2+11n}(1-q^{24n+11})}{(1-q^{12n+10})(1-q^{12n+1})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+13n+1}(1-q^{24n+13})}{(1-q^{12n+2})(1-q^{12n+11})}}{\sum_{n=0}^{\infty} \frac{q^{12n^2+10n}(1-q^{24n+10})}{(1-q^{12n+2})(1-q^{12n+8})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+14n+2}(1-q^{24n+14})}{(1-q^{12n+4})(1-q^{12n+10})}} \\
 &= \frac{1}{1+} \frac{1-q^2}{1-q^3} + \frac{(q^{5/2}-q^{7/2})(q^{1/2}-q^{11/2})}{(1-q^3)(q^6+1)} + \frac{(q^{5/2}-q^{19/2})(q^{1/2}-q^{23/2})}{(1-q^3)(q^{12}+1)} + \dots \quad (34)
 \end{aligned}$$

$$\begin{aligned}
 (ii) \quad \frac{S(q)}{T(q)} &= \frac{\sum_{n=0}^{\infty} \frac{q^{12n^2+11n}(1-q^{24n+11})}{(1-q^{12n+10})(1-q^{12n+1})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+13n+1}(1-q^{24n+13})}{(1-q^{12n+2})(1-q^{12n+11})}}{\sum_{n=0}^{\infty} \frac{q^{12n^2+8n}(1+q^{12n+4})}{(1-q^{12n+4})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+16n+4}(1+q^{12n+8})}{(1-q^{12n+8})}} \\
 &= \frac{1}{1+} \frac{1-q^2}{1-q^3} + \frac{(q^{5/2}-q^{7/2})(q^{1/2}-q^{11/2})}{(1-q^3)(q^6+1)} + \frac{(q^{5/2}-q^{19/2})(q^{1/2}-q^{23/2})}{(1-q^3)(q^{12}+1)} + \dots \quad (35)
 \end{aligned}$$

$$\begin{aligned}
 (iii) \quad \frac{S(q)}{T(q)} &= \frac{\sum_{n=0}^{\infty} \frac{q^{12n^2+7n}(1-q^{24n+7})}{(1-q^{12n+2})(1-q^{12n+5})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+17n+5}(1-q^{24n+17})}{(1-q^{12n+7})(1-q^{12n+10})}}{\sum_{n=0}^{\infty} \frac{q^{12n^2+10n}(1-q^{24n+10})}{(1-q^{12n+2})(1-q^{12n+8})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+14n+2}(1-q^{24n+14})}{(1-q^{12n+4})(1-q^{12n+10})}} \\
 &= \frac{1}{1+} \frac{1-q^2}{1-q^3} + \frac{(q^{5/2}-q^{7/2})(q^{1/2}-q^{11/2})}{(1-q^3)(q^6+1)} + \frac{(q^{5/2}-q^{19/2})(q^{1/2}-q^{23/2})}{(1-q^3)(q^{12}+1)} + \dots \quad (36)
 \end{aligned}$$

$$\begin{aligned}
 (iv) \quad \frac{S(q)}{T(q)} &= \frac{\sum_{n=0}^{\infty} \frac{q^{12n^2+7n}(1-q^{24n+7})}{(1-q^{12n+2})(1-q^{12n+5})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+17n+5}(1-q^{24n+17})}{(1-q^{12n+7})(1-q^{12n+10})}}{\sum_{n=0}^{\infty} \frac{q^{12n^2+8n}(1+q^{12n+4})}{(1-q^{12n+4})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+16n+4}(1-q^{12n+8})}{(1-q^{12n+8})}} \\
 &= \frac{1}{1+} \frac{1-q^2}{1-q^3} + \frac{(q^{5/2}-q^{7/2})(q^{1/2}-q^{11/2})}{(1-q^3)(q^6+1)} + \frac{(q^{5/2}-q^{19/2})(q^{1/2}-q^{23/2})}{(1-q^3)(q^{12}+1)} + \dots \quad (37)
 \end{aligned}$$

$$\begin{aligned}
 (v) \quad \frac{S^2(q)}{T^2(q)} &= \frac{\sum_{n=0}^{\infty} \frac{q^{12n^2+4n}(1+q^{12n+2})}{(1-q^{12n+2})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+20n+8}(1+q^{12n+10})}{(1-q^{12n+10})}}{\sum_{n=0}^{\infty} \frac{q^{12n^2+10n}(1-q^{24n+10})}{(1-q^{12n+2})(1-q^{12n+8})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+14n+2}(1-q^{24n+14})}{(1-q^{12n+4})(1-q^{12n+10})}} \\
 &= \left\{ \frac{1}{1+} \frac{1-q^2}{1-q^3} + \frac{(q^{5/2}-q^{7/2})(q^{1/2}-q^{11/2})}{(1-q^3)(q^6+1)} + \frac{(q^{5/2}-q^{19/2})(q^{1/2}-q^{23/2})}{(1-q^3)(q^{12}+1)} + \dots \right\}^2 \quad (38)
 \end{aligned}$$

$$(vi) \frac{S^2(q)}{T^2(q)} = \frac{\sum_{n=0}^{\infty} \frac{q^{12n^2+4n}(1+q^{12n+2})}{(1-q^{12n+2})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+20n+8}(1+q^{12n+10})}{(1-q^{12n+10})}}{\sum_{n=0}^{\infty} \frac{q^{12n^2+8n}(1+q^{12n+4})}{(1-q^{12n+4})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+16n+4}(1+q^{12n+8})}{(1-q^{12n+8})}}$$

$$= \left\{ \frac{1}{1+} \frac{1-q^2}{1-q^3} + \frac{(q^{5/2}-q^{7/2})(q^{1/2}-q^{11/2})}{(1-q^3)(q^6+1)} + \frac{(q^{5/2}-q^{19/2})(q^{1/2}-q^{23/2})}{(1-q^3)(q^{12}+1)} + \dots \right\}^2 \quad (39)$$

$$(vii) \frac{S^2(q)}{T^2(q)} = \frac{\sum_{n=0}^{\infty} \frac{q^{12n^2+8n}(1-q^{24n+8})}{(1-q^{12n+2})(1-q^{12n+6})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+16n+4}(1-q^{24n+16})}{(1-q^{12n+10})(1-q^{12n+6})}}{\sum_{n=0}^{\infty} \frac{q^{12n^2+10n}(1-q^{24n+10})}{(1-q^{12n+4})(1-q^{12n+6})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+14n+2}(1-q^{24n+14})}{(1-q^{12n+6})(1-q^{12n+8})}}$$

$$= \left\{ \frac{1}{1+} \frac{1-q^2}{1-q^3} + \frac{(q^{5/2}-q^{7/2})(q^{1/2}-q^{11/2})}{(1-q^3)(q^6+1)} + \frac{(q^{5/2}-q^{19/2})(q^{1/2}-q^{23/2})}{(1-q^3)(q^{12}+1)} + \dots \right\}^2 \quad (40)$$

Proof of (i)

Before proving (i) recall the Rogers-Fine identity [3, p.564].

$$\sum_{n=0}^{\infty} \frac{(a; q)_n t^n}{(b; q)_{n+1}} = \sum_{n=0}^{\infty} \frac{(a; q)_n (at/b; q)_n b^n t^n q^{n^2} (1-atq^{2n})}{(b; q)_{n+1} (t; q)_{n+1}} \quad (41)$$

Put $b = aq$ we have

$$\sum_{n=0}^{\infty} \frac{t^n}{(1-aq^n)} = \sum_{n=0}^{\infty} \frac{(at)^n q^{n^2} (1-atq^{2n})}{(1-aq^n)(1-tq^n)} \quad (42)$$

Replace q by q^k , put $t = q^j$ and $a = q^i$ we have

$$\sum_{n=0}^{\infty} \frac{q^{nj}}{(1-q^{kn+i})} = \sum_{n=0}^{\infty} \frac{q^{kn^2+n(i+j)}(1-q^{2kn+i+j})}{(1-q^{kn+i})(1-q^{kn+j})} \quad (43)$$

Now let $i = j$, we have

$$\sum_{n=0}^{\infty} \frac{q^{ni}}{(1-q^{kn+i})} = \sum_{n=0}^{\infty} \frac{q^{kn^2+2ni}(1+q^{kn+i})}{(1-q^{kn+i})} \quad (44)$$

Now dividing the equation (27) by (28), we have

$$\frac{S(q)}{T(q)} = \frac{\sum_{n=-\infty}^{\infty} \frac{q^n}{1-q^{12n+10}}}{\sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1-q^{12n+8}}}$$

$$= \frac{\sum_{n=0}^{\infty} \frac{q^n}{1-q^{12n+10}} + \sum_{n=-1}^{-\infty} \frac{q^n}{1-q^{12n+10}}}{\sum_{n=0}^{\infty} \frac{q^{2n}}{1-q^{12n+8}} + \sum_{n=-1}^{-\infty} \frac{q^{2n}}{1-q^{12n+8}}}$$

Replace $n \rightarrow -(n+1)$ in the second term of numerator and denominator we get

$$= \frac{\sum_{n=0}^{\infty} \frac{q^n}{1-q^{12n+10}} - \sum_{n=0}^{\infty} \frac{q^{11n+1}}{1-q^{12n+2}}}{\sum_{n=0}^{\infty} \frac{q^{2n}}{1-q^{12n+8}} - \sum_{n=0}^{\infty} \frac{q^{10n+2}}{1-q^{12n+4}}}$$

With the help of equation (43), we have

$$= \frac{\sum_{n=0}^{\infty} \frac{q^{12n^2+11n}(1-q^{24n+11})}{(1-q^{12n+10})(1-q^{12n+1})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+13n+1}(1-q^{24n+13})}{(1-q^{12n+2})(1-q^{12n+11})}}{\sum_{n=0}^{\infty} \frac{q^{12n^2+10n}(1-q^{24n+10})}{(1-q^{12n+2})(1-q^{12n+8})} - \sum_{n=0}^{\infty} \frac{q^{12n^2+14n+2}(1-q^{24n+14})}{(1-q^{12n+4})(1-q^{12n+10})}}$$

By equation (2) we have

$$= \frac{1}{1+} \frac{1-q^2}{1-q^3} + \frac{(q^{5/2}-q^{7/2})(q^{1/2}-q^{11/2})}{(1-q^3)(q^6+1)} + \frac{(q^{5/2}-q^{19/2})(q^{1/2}-q^{23/2})}{(1-q^3)(q^{12}+1)} + \dots$$

which proves (i). The proof of (ii)-(vii) are similar so are omitted here.

6. An important q-identity

$$\left[\frac{1}{1+} \frac{1-q^2}{1-q^3} + \frac{(q^{5/2}-q^{7/2})(q^{1/2}-q^{11/2})}{(1-q^3)(q^6+1)} + \frac{(q^{5/2}-q^{11/2})(q^{1/2}-q^{23/2})}{(1-q^3)(q^{12}+1)} + \dots \right]^2$$

$$= \frac{(q^4; q^4)_{\infty}}{(q^{12}; q^{12})_{\infty}^3} \left[\sum_{n=0}^{\infty} q^{12n^2+4n} \frac{1+q^{12n+2}}{1-q^{12n+2}} - \sum_{n=0}^{\infty} q^{12n^2+20n+8} \frac{1+q^{12n+10}}{1-q^{12n+10}} \right]$$

Proof.

From [15, eqn. 2.4]

$$\sum_{n=0}^{\infty} \frac{q^{in}}{1-q^{12n+i}} = \frac{(q^{12}; q^{12})_{\infty} (q^{2i}; q^{12})_{\infty} (q^{12-2i}; q^{12})_{\infty}}{(q^i; q^{12})_{\infty}^2 (q^{12-i}; q^{12})_{\infty}^2} \tag{45}$$

Also from [7, p.58]

$$\sum_{n=-\infty}^{\infty} \frac{q^{kn}}{1-q^{jn+k}} = \sum_{n=0}^{\infty} q^{jn^2+2kn} \frac{1+q^{jn+k}}{1-q^{jn+k}} \tag{46}$$

for $j = 12, k = 2$ and $k = 10$, we have

$$\sum_{n=0}^{\infty} \frac{q^{2n}}{1-q^{12n+2}} = \sum_{n=0}^{\infty} q^{12n^2+4n} \frac{1+q^{12n+2}}{1-q^{12n+2}} \tag{47}$$

and

$$\sum_{n=0}^{\infty} \frac{q^{10n}}{1-q^{12n+10}} = \sum_{n=0}^{\infty} q^{12n^2+20n} \frac{1+q^{12n+10}}{1-q^{12n+10}}$$

$$\sum_{n=0}^{\infty} \frac{q^{10n+8}}{1-q^{12n+10}} = \sum_{n=0}^{\infty} q^{12n^2+20n+8} \frac{1+q^{12n+10}}{1-q^{12n+10}} \tag{48}$$

Now

$$\sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1-q^{12n+2}} = \sum_{n=-\infty}^{-1} \frac{q^{2n}}{1-q^{12n+2}} + \sum_{n=0}^{\infty} \frac{q^{2n}}{1-q^{12n+2}} \tag{49}$$

Replace $n = -(n+1)$ in the first summation of right hand side, we have

$$\sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1-q^{12n+2}} = \sum_{n=0}^{\infty} \frac{q^{2n}}{1-q^{12n+2}} - \sum_{n=0}^{\infty} \frac{q^{10n+8}}{1-q^{12n+10}} \tag{50}$$

Subtracting eqn.(48) from eqn.(47), we have

$$\begin{aligned} & \sum_{n=0}^{\infty} q^{12n^2+4n} \frac{1+q^{12n+2}}{1-q^{12n+2}} - \sum_{n=0}^{\infty} q^{12n^2+20n+8} \frac{1+q^{12n+10}}{1-q^{12n+10}} \\ &= \sum_{n=0}^{\infty} \frac{q^{2n}}{1-q^{12n+2}} - \sum_{n=0}^{\infty} \frac{q^{10n+8}}{1-q^{12n+10}} \\ &= \sum_{n=-\infty}^{\infty} \frac{q^{2n}}{1-q^{12n+2}} \\ &= \frac{(q^{12}; q^{12})_{\infty}^2 (q^4; q^{12})_{\infty} (q^8; q^{12})_{\infty}}{(q^2; q^{12})_{\infty}^2 (q^{10}; q^{12})_{\infty}^2}, \quad \text{By equation (45) for } i = 2 \end{aligned}$$

Multiplying and dividing by $(q^4; q^4)_{\infty}$, we have

$$\begin{aligned} & \sum_{n=0}^{\infty} q^{12n^2+4n} \frac{1+q^{12n+2}}{1-q^{12n+2}} - \sum_{n=0}^{\infty} q^{12n^2+20n+8} \frac{1+q^{12n+10}}{1-q^{12n+10}} \\ &= \frac{(q^{12}; q^{12})_{\infty}^3}{(q^4; q^4)_{\infty}} \left[\frac{(q^4; q^{12})_{\infty}^2 (q^8; q^{12})_{\infty}^2}{(q^2; q^{12})_{\infty}^2 (q^{10}; q^{12})_{\infty}^2} \right] \end{aligned}$$

which completes the proof.

Conclusion; Using method of Hickerson, we have given identities and modular form. His method is simpler and we think by his method modular equations and identities for other continued fractions can be obtained, which we propose to do later.

Acknowledgement: I am thankful to referee for his useful comments. I am also thankful to my guide Prof. Bhaskar Srivastava for his guidance.

References

- [1] Chandrashekar Adiga, N. A. S. Bulkhali, D. Ranganatha, H. M. Srivastava, *Some new modular relations for the Rogers-Ramanujan type functions of order eleven with applications to partitions*, J. Number Theory. **158**(2016), 281-297.
- [2] Chandrashekar Adiga, Naseer Abdo Saeed Bulkhali, Yilmaz Simsek, H. M. Srivastava, *A continued fraction of Ramanujan and some Ramanujan-weber class invariants*, Filomat. **13**(2017), 3975-3997.
- [3] G. E. Andrews, *Two theorems of Gauss and allied identities proved arithmetically*, Pacific J. Math., **41**(1972), 563-578.
- [4] G. E. Andrews, *An introduction to Ramanujan's "lost" notebook* Amer.Math.Monthly, **86**(2)(1979), 89-108.
- [5] G. E. Andrews, *Ramanujan's "lost" notebook III. The Rogers-Ramanujan continued fraction*, Adv. Math. **41**(1981), 186-208.
- [6] G. E. Andrews and B.C.Berndt, *Ramanujan's "lost" notebook, Part I*, Springer, New York, 2005.
- [7] G. E. Andrews and B.C.Berndt, *Ramanujan's "lost" notebook, Part II*, Springer, New York, 2009.
- [8] B. C. Berndt, *Ramanujan's Notebooks Part III*, Springer-Verlag, 1991.
- [9] B. C. Berndt, *Ramanujans Notebooks V*. Springer, New York (1998).
- [10] Bowman, D. and J. McLaughlin, *Some more identities of the Rogers-Ramanujan type*. Preprint 2006
- [11] C. Gugg, *Two modular equations for squares of the Rogers-Ramanujan functions with applications*, Ramanujan J. **18**(2009), 183-207.
- [12] M. D. Hirschhorn, *On the expansion of Ramanujan's continued fraction*. Ramanujan J. **2**(4)(1998), 521-527.

-
- [13] M. D. Hirschhorn, *An identity of Ramanujan, and applications*. Contemp. Math. **254**(2000), 229-234.
- [14] D. Hickerson, *A proof of mock theta conjectures*, Invent. Math. **94**(1988), 639-660.
- [15] P. K. Rawat, *Identities connected with Ramanujan's continued fraction*, Palestine Journal of Mathematics, **8**(1)(2019), 242-248.
- [16] S. Ramanujan, Notebooks (2 volumes). Tata Institute of Fundamental Research, Bombay (1957).
- [17] S. Ramanujan, The Lost Notebook and Other Unpublished Papers. Narosa, New Delhi (1988).
- [18] M. S. Mahadeva Naika, B.N. Dharmendra, K. Shivashankara, *A continued fraction of order twelve*, Cent. Eur. J. Math. **6**(3)(2008), 393-404.
- [19] L. J. Slater, *Further identities of the Rogers-Ramanujan type*, Proc. London Math. Soc.(2) **54**(1952), 147-167.
- [20] B. Srivastava, *On modular equations and Lambert series for a continued fraction of Ramanujan*, Bulletin of Mathematical Analysis and Applications, **3**(2011), 148-155.
- [21] H. M. Srivastava, S. N. Singh, S. P. Singh, *Some families of q -series identities and associated continued fractions*, Theory Appl. Math. Comput. Sci. **5**(2015), 203-212.
- [22] H. M. Srivastava and M. P. Chaudhary, *Some relationships between q -product identities, combinatorial partition identities and continued-fraction identities*, Adv. Stud. Contemp. Math. **25**(2015), 265-272.
- [23] H. M. Srivastava, M. P. Chaudhary and Sangeeta Chaudhary, *Some theta-function identities related to Jacobi's triple-product identity*, European J. Pure Appl. Math. **11**(1)(2018), 1-9.